LOCKER
REPAIR PARTS

& CHAIR GLIDES

LOCKERS

IN STOCK FOR IMMEDIATE SHIPMENT

1-800-875-6201

IN ST. LOUIS 314-965-6500

\_ { Z INDUSTRIAL
 SHELVING SYSTEMS

455 E. ELLIOTT AVE.

ST. LOUIS, MO 63122

(314) 965-6500 ' fV]SA]

FAX (314) 965-4500
- www.lockerrepairparts.com 2014-2015
Cat # 615

Jjgoldkamp @industrialshelving.com



TABLE OF CONTENTS
LOCKERS ...ttt 2-3
LOCKERPARTS .........ooiiiiiiiiiiiniiininin... 4-22
ALL-STEEL .. .. ..ot 4
AURORA STEEL ... ..ottt 5
DEBOURGH . .......coiiiitiiiiiii i, 5
INTERIOR STEEL .. ........ooiiitiiiiaiiniiiiin., 6-7
LYON ..ottt 8-10
LIST/SUPERIOR .. .........couiiiiiiiiaaanann... 11
MEDART ... ot 12-14
TENNSCO WILSON .. ...ttt 14
PENCO ...ttt 15-16
REPUBLIC ...\ttt 17-18
WORLEY ... .ot 20
MISCELLANEOUS ... .. ...t ... 21-22
LOCKS ..ottt 23
FOLDING GATES ......oiiiiiiiiiiiiiiiiiiinnenes, 24
CHAIRGLIDES .......oiiiiiiiiiiiiiiiiiininann... 25-29

TERMS OF SALE:

All sales are net 15 days to institutions with
acceptable Dun & Bradstreet, Inc., rating. Unrated
firm or nonlisted firms are requested to submit
the name of your local bank and two major trade
references or include check with your order

to assure proper handling.

LIABILITY:

No liability is assumed by this company for
damage and/or injury resulting from equipment
supplied by this company.

MINIMUM ORDER:

Rising costs make it imperative for us to impose
a $35.00 Minimum Order per order, unless other
arrangements are made. Special and/or custom
made products are not returnable. Minimum
quantities on certain products listed herein must
be adhered to.

DAMAGED SHIPMENTS:

To protect your interest, we suggest that you
inspect shipment before accepting receipt of
merchandise. Damages should be noted on
freight bill and claim filed immediately with carrier.

RETURN SHIPMENTS:

Any merchandise being returned must be sent
freight prepaid. RETURN AUTHORIZATION MUST
BE GRANTED BY US IN WRITING BEFORE
RETURN OF MERCHANDISE.

PRODUCT DESIGN:
All orders are accepted subject to design change

by manufacturer, and our ability to obtain materials
and/or products.



TO ORDER CALL 1-800-875-6201

LYON METAL PRODUCTS
LOCKERS

LOCKER ARRANGEMENTS LOCKER ARRANGEMENTS
When ordering, specify the total number of locker openings required. For double tier lockers. When ordering, specify total number of
. J— locker openings required.
= ,
e = | o
5 sl
i o
| L iR Jig
! = =1 z3]
I : i §) )8
| o
i JEIL
H z I I
¢
hm hm ORDER TWO No. 5202 ORDER SIX No. 5202-3
AND RECEIVE AND RECEIVE
ORDER ONE No. 5002 ORDER THREE No. 5002-3 This one section, one frame This one section, three frames
AND RECEIVE AND RECEIVE wide (two locker openings). wide (six locker openings).
This one section, one frame This one section, three frames
wide (one locker opening). wide (three locker openings). SIZE . PHODypT
SIZE PRODUCT Per Locker Opening Frames Openings NO.
Per Locker Opening Frames Openings NO.** ., . . 1 2 v’ 5202
- 1 1 5002 127wx127dx36"h 3 6 V52023
12"wx12"dx60"h 3 3 V 5002-3 j j e, 1 2 Vv’ 5212
- 1 1 V5012 127Wx1570x 367N 3 6 V/ 5212.3
12" Wx15"gx60"h 3 3 V50123 ””“ 1 2 v 5222
] ) o 1 1 7 5022 12"wx18"dx 36" h 3 5 7 52223
12"wx18"dx60"h 3 3 V7 5022-3 j j . 1 2 5242
] ) - 1 1 7 5112 12"wx12"dx30"h 3 6 52423
127w x127dx72"h 3 3 51123 “”” 1 2 5252
R i 1 /5032 15" WX 18" dx 36" 3 6 52523
wm o 3 3 v 50323 *Heights shown do not include legs — add 6" to height for legs.
N . - 1 1 v/ 5042 **All numbers listed above are shipped knocked down. For lockers
12"wx18"dx72"h 3 3 7 5042-3 packaged three frames wide, order as shown.
15" wx 18" dx 72" b ! 1 V5062 NOTE: In the interest of safety, Lyon strongly recommends that
3 3 v’ 5062-3 lockers be floor and/or wall anchored.
1 1 5092
18"wx 18" dx 72" h* 3 3 5092-3 LOCKER BENCHES
1 1, 5102 Rigid, durable and attractive.
18"wx21"dx 72" h* 3 3 5102-3 Selected hardwood seats with
“Heh 2o ot inclade] 336 1o horoht for Clear sealer or plastic laminate.
ghts shown do not inc egs — add 6" to height for legs. All benches 106" long or longer
*All numbers listed above are shipped knocked down. For lockers have three pedesta|slgp|asﬁc?am-
packaged three frames wide, order as shown. inate locker benches stocked
Note: For additional sizes, please call in Dove Gray and Putty only.
us for the Lyon Locker Guide, , , .,
Catalog No. 601. v No.5810 9% wx 72" | x 18" h Hardwood
v No. 5811 9%"wx96"1x18" h Hardwood
v No.5812 9%" wx 108" | x 18" h Hardwood
v No.5813 9%"wx 120" Ix 18" h Hardwood
v No.5815 12"wx72"1x18%"h Plastic laminate
v No.5817 12"wx120"1x 18%"h Plastic laminate
v No.5818-2 Pedestals only (2)
v No.5818-3 Pedestals only (3)

FREE FREIGHT POLICY DOES NOT APPLY TO ITEMS ON THIS PAGE



TO ORDER CALL 1-800-875-6201

LOCKER ARRANGEMENTS
For 5 and 6 high multiple tier lockers. When ordering. specify

BASKET RACKS
Economical clothing storage

the total number of locker openings required for gymnasiums, swimming
pools, etc. Baskets have 3/4" x 1"
wire mesh sides and bottom with
perforates sheet steel front and
back. Basket is electroplated with
bright zinc and chromate dip.

Rack legs are punched for con-

o
mi

ﬁﬁﬂ 0
Mo

= = version to portable units with
D=
casters. Number plates are extra,
= = with one required for each basket
e = I: £ and each basket rack opening
= | =1
1 & I

I

ORDER FIVE No. 5302
AND RECEIVE
This one section one frame wide

1

ORDER FIFTEEN No. 5302-3 No. 5930 ‘

AND RECEIVE
This one section, three frames

(five locker openings). wide (15 locker openings).

No.5930 40%"wx 13('/." dx 68%" h, includes 21 standard baskets
13"dx8"h

12" wx
SIZE PRODUCT -
Per Locker Opening Frames Openings NO ** No.5931  Same as No. 5330, without baskets
1 4 5352 No.5932  40%" wx 13%" d x 68%" h, includes 28 standard baskets
12" wx 12" dx 12" h* 1 5 v’ 5302 9"wx13"dx8"h
v ’ 3 12 5352-3 No.5933  Same as No. 5932, without baskets. For racks with Pilfer-Guard
3 15 v 53023 baskets, order No. 5931 rack and 21 No. 5937 baskets — or
1 5 v 5312 No. 5333 rack and 28 No. 5336 baskets.
12"wx15"dx12"h 3 5 .~ 53123
1 3 5283
12" wx 15" d x 24" h* - : =553 EXTRA BASKETS
A STANDARD
15" wx 15" 0x 12" b* 1 5 v 5322 No.5934 — 9"wx 13"dx8"h
STwx15"dx 3 15 V7 53223 No.5935 — 12"wx 13'dx 8"h
12"wx12"dx 12" h* ! 6 V5332
3 18 v 53323 PILFER GUARD
., ., - 1 6 v’ 5342 Same as above except with
12°wx15"dx12"h 3 18 - 53423 protective steel cover over the
- - " 1 5 7 5362 front 3" of the basket opening.
12°wx18"dx12"h 3 18 .7 53623

No.5936 — 9"wx 13"dx8"h
No.5937 — 12"wx 13"dx8"h

*Heights shown do not include legs — add 6" to height for legs.
**All numbers listed above are shipped knocked down. For lockers
packaged three wide and five and six high multiple tier lockers,

order as shown.

NOTE: Triple-tier lockers have handle and lock-bar assembly.
Triple-tier lockers are available from stock in Putty (a light beige)
at the L.A. warehouse only.

Four-tier lockers have one-point latching system and doors are
equipped with padlock hasps with door pulls.

FREE FREIGHT POLICY DOES NOT APPLY TO ITEMS ON THIS PAGE



All locker handles come with screws.

oo (N

1A. #12002 Q

1A. HANDLE BOLT—8-32 x 3/8
Cat. No. 12002
1B. HANDLE BOLT—8-32 x 3/8 (9] 0 )
Cat. No. 12001 1B, #12001 s 410701
2. 2-PC. KICK-PROOF
HANDLE—Cat. No. 10101 ) @
2

ALL-STEEL

3. PADLOCK EYE
Cat. No. 10701

. 1-PIECE HANDLE
Cat. No. 10103 4. #10103

. DOORSTOP—Cat. No. 10301
. DOORSTOP—Cat. No. 10303
HINGE—Cat. No. 11101

. CLIP—Cat. No. 11102

. CATCH—Cat. No. 10503

10 LATCH SPRING
Cat. No. 11501 5. #10301

11. RIVET—Cat. No. 12003

12. BOX LOCKER LATCH 6. #10303
Cat. No. 10501 7. #1101

13. STUD—Cat. No. 12005

14. SPRING—Cat. No. 11503 \ S
15. BOX LOCKER LATCH D 8. #11102
(Old Style)
Cat. No. 10505 e 4 N
16. BOX LOCKER LATCH 70
Cat. No. 12700 D /\
9. #10503 5

17. LOCKING BAR ASSEMBLY © l

Must Have A Sample
11. #12003
ﬂw. #10501

14. #11503

. #10101

H

© ® N O m

)
NOTE: All-Steel no longer 15. #10505
manutacturers lockers, therefore,
we are unable to supply doors
only, frames only or All-Steel
door and frame assemblies.
However, a door and frame
assembly is available provided
the installer make the necessary

modifications. For more infor-

mation contact our office. [ J I N D U ST R l A L :T lP( )[UII:,l; )11)1(:2};2

13. #12005

17. #13030

#13036

fom>=. oo ZZ—=p  #13060
#13072

| T|§] SHELVING SYSTEMS  {\X hiirsce.ssu0

4 TO ORDER CALL 1-800-875-6201



All locker handles come with screws.

AURORA STEEL

1. COMPLETE LIFTER
ASSEMBLY—Cat. No. 20000
2. LIFTER SPRING
Cat. No. 21501
3. LIFTER PIN—Cat. No. 22001
4. RUBBER BUMPER

3. #22001 0

: \\ Cat. No. 21301
2. #21501 // 5. LIFTER ONLY—Cat. No. 20103
1. #20000 v 6. LIFTER COVER—Cat. No. 20107
Complete Assembly 7. LOCKER HANDLE

Cat. No. 20109
8. FACE PLATE—Cat. No. 20105
8. #20105 9. LATCH—Cat. No. 20501
10. LATCH PIN—Cat. No. 22003
11. COIL SPRING—Cat. No. 21503
12. DOOR STOP—Cat. No. 20301

6. #20107 7. #20109

1 13. HINGE—Cat. No. 21101
. 14. NUMBER PLATE
i Cat. No.28001(Specify Number)
N 15. RETAINING RIVET FOR LOCK
I BAR—Cat. No. 22005
" z:::gg 16. LOCKING BAR ASSEMBLY
'I ACTUAL LOCKER PART
i LENGTH DOOR HT. NUMBER
27" 30" 25130
15. #22005 *32-15/16” 36" 25136
56-9/16” 60" 25160
*68-3/8" 72" 25172

&z

14. #28001 *No Longer Available

12. #20301 13. #21101

D

DEBOURGH

S
(=}
<i> 5. #D130-30D 1. GYM DOOR LATCH
#D130-36D
o #D:w_soo Cat. No. D105D
#D130-720 || 2. TOP/IBOTTOM HINGE HOLDER
1 Cat. No. D110D

3. CENTER HINGE HOLDER
Cat. No. D120D

4. HINGE SET

Cat. No. D125D
5. LOCK ROD WITH HANDLE
LOCKER PART

= DOOR HT. NUMBER
T 30" D130-30D
36" D130-36D
Y 60" D130-60D
3. #D120D 401250 U 72" D130-72D

I INDUSTRIAL &iwitinas

(314) 965-6500

DD@ SHELVING SYSTEMS FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201 5



INTERIOR STEEL

1. LOCK BAR ASSEMBLY
Series 65 (After 1964)

PART
NUMBER

~ 33148 |S.T. 48"
35160 | S.T. 60
35172 |S.T. 72

« 33248 | D.T. 48
35130 {D.T. 60
35136 | D.T. 72

«~ 33284 |D.T. 84

» 33360 |3-T 60

» 33372 |3-T 72

» 33266 |2-Prsn.| 60

» 33366 | 2-Prsn.| 60

x» 33772 | 2-Prsn.| 72

« 33872 12-Prsn.| 72

LOCKER
TYPE

LOCKER
HEIGHT

LOCK BAR
LENGTH

43-11/16"
55- 9/16
67- 9/16
20-11/16
26-11/16
32-11/16
38-11/16
17- 1116
21- 116
36- 1/16 RH
36- 1/16 LH
48- 1/16 RH
48- 1/16 LH

LATCH BAR ASSEMBLY

o A WN

« Cat. No
Cat. No
Cat. No
Cat. No
Cat. No
Cat. No

7. HANDL

° L] L] L] *

. 37120 20" 3T
. 37124 24" 3T
. 37130 30" DT
. 37136 36” DT
. 37160 60” ST
.37172 727 ST

E SCREWS

. UPPER DOOR—Cat. No. 36201
LOWER DOOR—Cat. No. 36101

. LOCK BAR—Cat. No. 35701

. LOCK BAR SCREW —Cat. No. 33145

LOCK BAR ASSEMBLY

A. 8-32 x 3/8—Cat. No. 35117
B. 10-24 x 3/8 — Cat. No. 31020

©

. HASP - Cat. No. 30701

9. LATCH LIFTER—Cat. No. 30104

HANDL
Cat. No
Cat. No

10.

11.

E LIFT
. R.H. 30125
. L.H. 30126

STAINLESS STEEL RECESS

HANDLE HOUSING—Cat. No. 30123

12
13.

RETAINER CLIP—Cat. No. 30121
RECESSED HANDLE LIFTER

*  Cat. No.30119Lifter R.H.
«  Cat. No.30120Lifter L.H.

14.

RECESSED HANDLE

Cat. No. 30117 (use 30123)

Includes Rubber Bumper
= Cat. No. 33010 Acorn Nut

* Cat. No

. 33000 Screw

*  Cat. No. 33252 Washer

15.
16.
17.

* Special order
* No longer available

HANDLE—Cat. No. 30101
HANDLE—Cat. No. 30105
LATCH LIFTER—Cat. No. 30103

&
Q%osm 21

1978 TO
JAN. 1, 1989

All locker handles come with screws.

6. #37120
#37124
#37130
Q #37136
#37160
& / #37172
o <4
oW
&9()
Lower Door
Jﬁm 3. #36101
2. #36201
\

10. #30125
#30126

13. #30119
#30120

14. #30117

INDUSTRIAL

SHELVING SYSTEMS

(j@‘\oﬁo
PR\,
03:9 LOCK BAR
o ASSEMBLY
Replace with

Complete with
Latch and Bars

@)

5. #33145

l

4. #35701

TA. #35117

& )m

7B. #31020

8. #30701

11. #30123

15. #30101 16. #30105

(314) 965-6500
FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201

455 E. ELLIOT
ST. LOUIS, MO 63122

17. #30103

T AVE.




All locker handles come with screws.

@

L«\\‘ 90 =

4y | o
ol Rl

19. # 30109

21. #30113

18. # 30107

26. # 30302
22. COMPLETE # 30301
ASSEMBLY R.H. Shown
# 30000 22A. # 315
I
\', : 23.#31503 54 4130505 “
! @0 27. # 30304
' \) # 30303
R.H. Shown
22C. #30503 . # 30707

#.30708
22B. # 30501
#30502 0

0
O O
] “\‘\ 31. # 31505
o\é 28. #30703 @
32. #32005
29. # 30705
35. #31305
34. #31507
33. #31101 ?,0
<

2

38. # 30711

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122

!5 INDUSTRIAL

[ ] |s] SHELVING SYSTEMS
TO ORDER CALL 1-800-875-6201

(314) 965-6500
FAX (314) 965-4500

INTERIOR STEEL

18. HANDLE—Cat. No. 30107
19. HANDLE—Cat. No. 30109 *
20. KEEPER—Cat. No. 30709
21. HANDLE—Cat. No. 30113

22. SLIDE LATCH ASSEMBLY
Cat. No. 30000
A. 31501 Slide Latch Spring
B. 30501 Nylon Latch or
30502 Metal Latch
C. 30503 Plastic Housing

23. SPRING—Cat. No. 31503

24. LATCH FINGER
Cat. No. 30505

25. PADLOCK CLIP & LOCK
CATCH (R.H. Shown)
Cat. No. 30707
LOCK CATCH, L.H.

Cat. No. 30708

26. LOCK BAR HOOK
Cat. No.30302Hook L.H.
Cat. No.30301Hook R.H.

27. LOCK BAR HOOK
Cat. No.30304Hook L.H.
Cat. No.30303Hook R.H.

28. PADLOCK STRIKE
& DOOR PULL
Cat. No. 30703

29. LOCK COVER PLATE
ASSEMBLY
Cat. No. 30705

30. SPRING ACTUATED LATCH
Cat. No.30507Latch

31. SPRING—Cat. No.31505 *
32. STUD—Cat. No. 32005 ¥
33. HINGE—Cat. No. 31101

34. DOOR SPRING
Cat. No. 31507

35. NYLON ROLLER
Cat. No. 31305

36. DOOR BUMPER
Cat. No. 31303

37. NUMBER PLATE
Cat. No. 38001 ~«
Plate for Basket Rack

38. PADLOCK CLIP
Cat. No. 30711

* No longer available



| All locker handles come with screws.

1. HANDLE LIFT
Right Hand—Cat. No.40103(snown
Left Hand—Cat. No. 40104

2. STATIONARY HANDLE
HOUSING—Cat. No. 40101

3. HANDLE LIFT
nght Hand—Cat. No.401 07(shown)
Left Hand—Cat. No. 40108

1. #40103

4. STATIONARY HANDLE #40104 3. w007

HOUSING — Cat. No. 40105 cO

0 #4. 440105 0\3

5. LOCKER HANDLE oA, #41311

Cat. No. 40109 7. #40121
5. HANDLE LIFT : S ’

Right Hand—Cat. N0.401 11 (shown) o

Left Hand—Cat. No. 40112 9B. #41314
7. SHEET METAL HANDLE 0

Cat. No. 40121 0 0 ﬁ
3. HANDLE COVER PLATE 6 o2

Cat. No. 40122 ) 9C. #41315

). HANDLE RUBBER BUMPERS
A. 41311 For 40109 Handle
B. 41314 For 40105 Handle
C. 41315For 40105 Handle

). HANDLE LIFT
Right Hand—Cat. No. 40137 @ __|
Left Hand—Cat. No. 40138
Old Style Finger Lift 10a #46750
New Style Finger Lift 10b #46651

. HANDLE HOUSING
Cat. No. 40135

). HARDWARE

10a #46750 10b #46651 8. #40122 m

15A. #42007

10. #40137

#40138 o Q @m

15B. #42003

i

15C. #42005

D G

15D. #42001
A. Screw—Cat. No. 46205 128. #46210 \{
N
13. #40133 14. #40131 m

B. Washer—Cat. No. 46210 4
. HANDLE LIFT @ _____ T 11, stor3s 440134
Right Hand - Cat. No. 40133¢towny |  — 77~ W) \
Left Hand — Cat. No. 40134
. RECESSED HOUSING
Cat. No. 40131
. HANDLE BOLTS
9
. LOCKER HANDLE @
Cat. No. 40117 16. 440117 17. #4019 18. (A) #40113
. LOCKER HANDLE (B) #40114
Cat. No.40119 [J
. HANDLE GUIDE & LIFT I 455 E. ELLIOTT AVE.
Cat. No. Guide (A) 40113 Lift(8) 40114 | |S] INDUSTRIAL st oo

A. 8-32x1/2 - Cat. No. 42007
(314) 965-6500
. LOCKER HANDLE [ | |s] SHELVING SYSTEMS  p\x (314) 965-4500

12A. #46205

19. (A) #40115
(B) #40116

B. 8-32x1/4 - Cat. No. 42003
Cat. No. Guide (A) 40115

C. 10x1/4 - Cat. No. 42005 ‘ ~
D. 6-32x5/16 — Cat. No. 42001
3 LIft (B) 40116 T0 ORDER CALL 1-800-875-6201




LYON

21.

#47130
#47136
#47160
#47172

20. EXPANDED METAL LOCKER
HANDLE—Cat. No. 40125

21. LOCKER CAM ASSEMBLY
Cat. N0.47130-30"
Cat. N0.47136-36"
Cat. No. 47160-60"
Cat. No. 47172-72"

22. HINGE BOLT—Cat. No. 92013
23. HINGE—Cat. No. 41101

24. WIRE BASKET
PADLOCK ATTACHMENT
Cat. No. 40705

25. GRAVITY LATCH
Cat. No. 40503

26. SPRING ACTUATED LATCH
Cat. No. 40501
SPRING ONLY
Cat. No. 41507

27. RUBBER BUMPER

L\ Cat. No. 41303

28. DOOR JAMB—Cat. No. 40301

29. DOOR JAMB
Right Hand
Cat. N0.40303(Shown)

Left Hand—Cat. No. 40304
54 440701 30. DOOR JAMB—Cat. No. R.H. 40305
31. BOX LOCKER DOOR  L--H- 40306
0\9 JAMB—Cat. No. 40311

20. #40125

28. #40301 29. #40303 30. R.H. 40305
#40304 L.H. 40306

32. BOX LOCKER DOOR
JAMB—Cat. No. 40313

33. DOOR JAMB—Cat. No.R.H. 40309

34. BOX LOCKER DOOR  L-H. 40310
PULL—Cat. No. 40701

35. BOX LOCKER DOOR
JAMB—Cat. No. 40315

32. #40313 33. R.H. 40309
L.H. 40310

7. #40317

0\50 35. #40315

36. #40319 38. #40703 36. 2-PERSON DOOR JAMB
Cat. No. 40319
< 37. 2-PERSON DOOR JAMB
0) [ & ~ Cat. No. 40317
38. ROLL POINT CATCH
Cat. No. 40703
0\5 39. DOOR JAMB—Cat. No. 40307
39. #40307 40. R.H. 40321 42, #48001 40. DOOR JAMB—Cat. No. ?H 28:33%5
LH-40322 41 4a03z 41. DOOR JAMB—Cat. No. 40323

455 E. ELLIOTT AVE 42. NUMBER PLATE

m QW I N D U ST R l AL ST. LOUIS, MO 63122' Cat. No. 48001

_ ] (314) 965-6500 (Specify Number)
LJD@ SHELVING SYSTEMS FAX (314) 965-4500 LYON CONTINUED ON NEXT PAGE

TO ORDER CALL 1-800-875-6201 9




; P @
‘l
.d
LOCK BAR ASSEMBLY ,
ACTUAL DOOR PART k
LENGTH HEIGHT NO. 43. 44, 45,
43. 56%2" 60" or72" 45172 ﬂ #45172 #45372 ﬂ #45560
272" 30" or36” 45136 #45136 #45336 [L #45572
4. 6% 60"or72" 45372 ,Q e
27" 30" or36” 45336
45. 56" 60" 45560 ] :
68"z " 72" 45572 Q
27" 30 45530 D i
332" 36" 45536 3 4.
46. LOCKING BAR SPRING Q ° U #41501
Cat. No. 41501 a
N . —D
47. LOCKING BAR SPRING N
Cat. No. 41503 } N
48. WIRE LATCH BAR FOR ,3 ,5
2 PERSON-SHORT, R.H. o o
1975 to Present o .
Cat. No. 46101 & ¢
49. WIRE LATCH BAR FOR m m ﬂ
2 PERSON-LONG, R.H.
1975 to Present 1981 —CURRENT 1980—1981
Cat. No. 46201 I GALVANIZED GALVANIZED k 1953.1980
50. LATCH BAR—LONG, L.H. ~ PANTERGREY |
17'7%,"L—Cat. No. 46401 (1970-75) a7
18%,”L—Cat. No. 46601 (1962-70) 441503

A

52. LOCKING BAR SPRING
Cat. No. 46505

53. BULLET CATCH
Cat. No. 46240

54. 2-PERSON UPPER DOOR
15" WIDE

B~

o)

Co
=

51. LATCH BAR—SHORT, R.H. _ 5
9¥,,”—Cat. No. 46301 (1970-75) @D ) #46240
9'%,”—Cat. No.46501 (1962-70) el /) /

1

r_,————"7
o|<|- - /
{!l N r’;

Right Hand—Cat. No. 46250 446101 ¢ —
Left Hand—Cat. No. 46255 | =
18” WIDE S |
g e = )
eft Hand—Cat. No. .
55. UPPER ROD GUIDE g i
Cat. No. 49007 ©
56. LOCK WIRE STRAP
Right Hand—Cat. No. 49003 5 " 56
Left Hand-—Cat. No. 49004 49. 446401 #49003
#46201 #46601 82. 55. #49004

#46505 #49007

1, INDUSTRIAL &l

2 (314) 965-6500
L] ISl SHELVING SYSTEMS  j\x (314, ‘;65-450()
10 TO ORDER CALL 1-800-875-6201



4. #L0119
COMPLETE ASSEMBLY

5. #L0120

LIST/SUPERIOR

3

I 1. #L0105
/ N ﬁ
\ w

[N

E 6. #L0125
1

7. #L0130

NEY|

8.#L0135

. FINGER LIFT w/RIVET
Cat. No. L0105

. HANDLE LIFT
Cat. No. LO110

RECESSED HANDLE
Cat No. L0115

COMPLETE ASSEMBLY

Cat. No. LO119

Specify for top or side hinge door,
with or without recess pan.

. HASP HOUSING

Cat. No. L0120
. SPRING—Cat. No. L0125
. LATCH—Cat. No. L0130

. KEEPER—Cat. No. L0135

. HINGE—Cat. No. L0140
HINGE FOR KD LOCKER
Cat. No. L0142

LATCH HOOK
Cat. No. L0145

LATCH HOOK
Cat. No. L0150

HINGE ROD (Prior to 6-86)
Cat. No. L0155

HINGE ROD (6-86 to Present)
Cat. No.L0160(Specify Length)

LOCK CHANNEL

(G

\Q

3. #L0115

10. #L0145

[ 12. #L0155
9. #L0140

oz oyl PR
|\ % 13. #L0160
15. #L0175

|
. i S

© O N O

11. #L0150
10.

11.

12.

13.

14.

[
W
|

N
N

N

S

N

14. #L0224

]
]S

= )35000 <,
16. #L0165 '\,3<><><>(\(*

17. #L0170

INDUSTRIAL

" |s] SHELVING SYSTEMS
TO ORDER CALL 1-800-875-6201

D
A

W 4
="

H

N/ 18.

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122
(314) 965-6500

FAX (314) 965-4500

15.

16.

17.

18.

KNOCKED DOWN
L0224-30 KD
L0224-36 KD
L0224-60 KD
L0224-72 KD

WELDED
L224-30W
L224-36W
L224-60W
L224-72W

(Specify Door Height)

NYLON RIVET
Cat. No. L0175

LATCH SPRING
Cat. No. L0165

NYLON LATCH
Cat. No. L0170

DOORS—Specify

WIDTH—

HEIGHT—

LOUVERS OR
DIAMOND MESH—

COLOR—

11



MEDART

15/

1. DOOR STOP ’ *

Cat. No 50301R.H. (Shown) 50301 ALH \*\ -

Cat. No.50302L.H. b oitipiy
2. 10-32 NYLON INSERT STOP

NUT—Cat. No. 59640 ~. Y ot 5. # 50305 RH.
3. 10-32 x 1/2 CAP SCREW | \@ 50306 LH.

Cat. No. 59645 L 2. #59640

4. DOOR STOP \%

Cat. No50303R.H. 50304 L.H. 3. #59645 \/D

5. DOOR STOP ( .

Cat. No. 50305 R.H. 50306 L.H.

. DOOR STOP—Cat. No. 51160
R.H. 50307

. DOOR STOP—Cat. No. ftH- 50307

. DOOR STOP—Cat. No. 50709

. DOOR STOP—Cat. No. 50707

10. PLASTIC LOCKROD SPRING 0\
Cat. No. 51265

11. NYLON SPRING & RIVET 8. #50709
ASSEMBLY—Cat. No. 51270

12. SOLID RIVET—Cat. No. 52003

13. TUBULAR RIVET
Cat. No. 52001

6. #51160

7. # 50307
50308

© 0o N O

10. #51265

14. ROLLER—Cat. No. 50501
15. LOCK ROD SPRING 12. # 52003 1. #51270

Cat. No. 51503

'\ 5/8”
16. LOCK ROD SPRING o~

Cat. No. 51501

S

13. #52001

17. LOCK ROD LATCH CLIP

ASSEMBLY—Cat. No. 50502 ) D) >
18. DOOR STOP BUMPER Q

Cat. No. 51301 14 #3057 W ~ )
19. DOOR STOP BUMPER 15. # 51503

Cat. No. 51302

W\L 16. # 51501 \

17. # 50502 %

20. #50711
L~

s INDUSTRIAL 3rousvod:

20. PADLOCK HASP FOR WIRE
BASKET—Cat. No. 50711

Q&{/

\

L

_ 2 (314) 965-6500
T |S] SHELVING SYSTEMS FAX (313) 9654500
12 TO ORDER CALL 1-800-875-6201




All locker handles come with screws.

@)9»»»

21A. #51020

0

21B. #51035

22. #50708 23.

29. #50127
/

D
QI

324#50109MD 33. #50107 34. #5011

39. #50116

37. #50113 38. #50115

25. #50137 R.H.
#50138 L.H.

8

24. #50135

30.#50101R.H.
28. #50125 #50102 L.H.

I 26.#50705
3
@)
é
g
e
%
%
A
2
’
1 #50117RH.
35. #50701
36. #50703 RH,
#50704 LH.

40. DISCONTINUED

455 E. ELLIOTT AVE.

H[s] INDUSTRIAL st vouss, mo 63122

(314) 965-6500

[ IS] SHELVING SYSTEMS  pxx (314) 965-4500
TO ORDER CALL 1-800-875-6201

21.

22.

23.
24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

39.
40.

MEDART

HANDLE SCREWS

A. 10-24 x 3/8—Cat. No. 51020
For Handles 50111, 50107
50109 M.D., 50113, 50115

B. 8-32 x 3/8—Cat. No. 51035
For Handles 50101 R.H.,
50102 L.H., 50117 R.H.

BOX LOCKER PULL
Cat. No. 50708

FINGER LIFT—Cat. No. 50136

RECESSED HANDLE
Cat. No. 50135

HANDLE LIFT

Right Hand—Cat. No. 50137
Left Hand—Cat. No. 50138
HASPR —Cat. No. 50705+«

For Handle No.50117R.H.
RECESSED HANDLE SLIDE
Cat. No. 50126 *
RECESSED HANDLE HOUSING
Cat. No. 50125 *

Specify painted or stainless
NUMBER PLATE HOLDER
Cat. No. 50127

LOCKER HANDLE

Cat. No.50101R.H. (Shown)
Cat. No 50102L.H.

NEW STYLE CONTROL
ACCESS HANDLE
Cat. No.50117R.H.

LOCKER HANDLE
Cat. No. 50109MD

LOCKER HANDLE
Cat. No. 50107

LOCKER HANDLE
Cat. No. 50111

PADLOCK HASP
Cat. No. 50701

PADLOCK HASP
Cat. No. R.H. 50703 L.H. 50704

LOCKER HANDLE
Cat. No. 50113

LOCKER HANDLE
Cat. No. 50115

LOCKROD LIFT—Cat. No. 50116
EXPANDED METAL LOCKER
HANDLE—Discontinued

MEDART CONTINUED
ON NEXT PAGE

* No longer available 13



MEDART

41. 4-HOLE HINGE—1%:" (@ /l‘\@
Cat. No. 51101
42. 3-HOLE HINGE—2" > 46. #52009 0
Cat. No. 51227 \ !
43. UPPER DOOR HINGE ) f
Cat. No. 51103 U' |
44. LOCK BAR GUIDE 9 ~
Cat. No. 51475 ‘ ,
45. LOCKROD ASSEMBLY | "
ACTUAL LOCKER PART l{ﬁ 0 O
LENGTH DOOR HT. NO. | 0 0
87" 12" 51412 .
11%" 15" 51415
143" 18" 51418 0 0 ﬁ
16% " 20" 51420 43, #51103 0 .
20% " 24" 51424 0 ‘ 0
26%" 30" 55130 | i
32%" 3" 55136 f | | uid
43" 727 2-Pr. 51452 } , 49. #51485
49Y, " 60" 55160 42, §51227 j |
613,” 72" 55172 | IU
Old Style Also Available 45, #51412 0,\ 0
Call For Details #51415 Sj f
46. SHOULDER COLLAR ey | ] - [
Cat. No. 52009 ;'55511432: 47. #51480 :
47. TWO-PERSON LATCH BAR vl | 0
SHORT LH—Cat. No. 51480 #5160 |_|&) |
48. TWO-PERSON LATCH BAR #5172 \/%
LONG RH—Cat. No. 51482 44, #51475
49. LOCKROD-UPPER TWO- 48. #51482

PERSON DOOR—Cat. No. 51485

1. HANDLE LIFT—Cat. No. T105
2. RECESSED HANDLE
Cat. No. T110 5. #T125
3. ATTACHMENT RIVET
Cat. No. T115
4. LOCKER HANDLE
Cat. No. T120
5. LATCH SPRING—Cat. No. T125

6. DOOR JAMB—Cat. No. T130 2. #1110

7. STEEL LATCH—Cat. No. T135

7. #T13
6. #T130 5

INDUSTRIAL s touss, o ez

) 314) 965-6500
'S] SHELVING SYSTEMS FAX (314) 965-4500
14 TO ORDER CALL 1-800-875-6201




All locker handles come with screws.

PENCO

NOTE: SPECIFY PALNUT
#62003 or #62001

3B. #601018

1. HANDLE SLIDE
6. ¥64385 Cat. No. 60113
- 2. HANDLE HOUSING

Cat. No. 60111

3. LOCKER HANDLE
Cat. No 60101 (Specify Palnut)

3A. HANDLE SLIDE ONLY
Cat. NO.60101A

1. #60113 3A. #60101A 2
) 3B. HANDLE HOUSING ONLY
3 oot o ’ \ Cat. No. 60101B
2. #60111 8 ﬁ 4. PADLOCK STAPLE
Cat. No. 60104
4. #60104 5. #0103

5. LOCKER HANDLE

- Cat. No. 60103
L \ 6. PALNUT—Cat. No. 64385

8. #020m 7. HANDLE RUBBER BUMPER
Cat. No. 61301

8. PIN—Cat. No. 62011

9. HANDLE LIFT
Right Hand—Cat. No. 60117
Left Hand—Cat. No. 60118

10. RECESSED HANDLE
Cat. No. 60115

11. DOORSTOP RIGHT HAND
Cat. No. 60301

12. DOORSTOP LEFT HAND
Cat. No. 60302

13. BUMPER DOOR STOP
Cat. No. 61303
/ 14. PADLOCK HASP
2 Cat. No. 60701
15. LOCKER HANDLE

ﬁ
§( 16. #60705 Cat. No0.60105 *
Q 16. BOX LOCKER JAMB

D
QO\QCT Cat. No. 60705
17

Q/ . WIRE BASKET
14, #60701 § 2 M PADLOCK ATTACHMENT

7. #61301

9. #60117
#60118

11. #60301

13. #61303

10. #60115

Cat. No. 60707

Y
/\/ 18. BOX LOCKER PULL
15. #60105 i 18, #60703 Cat. No. 60703
17. #60707

* No longer available

"'s, INDUSTRIAL it o

(314) 965-6500
] |S] SHELVING SYSTEMS FAX’(,M, 9654500
TO ORDER CALL 1-800-875-6201 15



19. PALNUT TOOL
Cat. No. 63001
20. PALNUT
Cat. No. 62001
21. PALNUT TOOL
Cat. No. 63002

22. PALNUT
Cat. No. 62003

23. REPLACEMENT CLIP
GUIDE FOR LATCH BAR
Cat. No. 69001

24. HINGE
Cat. No. 61101

25. NYLON LATCH CLIP
SPRING - Cat. No. 61501

26. NYLON LATCH CLIP
Cat. No. 60501
27. SPRING—Cat. No. 61503
28. STEEL LATCH CLIP
Cat. No. 60503
29. TUBE RIVET
Cat. No. 62007
30. LOCK BARS

DOOR
HEIGTH NO.

ACTUAL PART

LENGTH

211/2” 30~ 65130
27 1/2” 36” 65136
321/2” 2 PR/RH 64532«
321/2” 2PR/LH 64533 ¢
44 1/8” 2 PR/RH 65705
441/8” 2 PR/LH 65805
50 5/8” 60~ 65160
62 1/2” 727 65172

31. LOCK BAR FOR UPPER
2 PERSON (Left Hand Shown)
Left Hand—Cat. No. 65801
Right Hand—Cat. No. 65701

32. LATCH BAR (18%"L)
Cat. No. 66201

33. LATCH BAR (9% "L)
Cat. No. 66101

34. RETAINING BUTTON - Cat. No. 64630
 Special order

16

—
=
-

21. #63002

23. #69001

N
o
29. #62007
i
Ul =0
D #65130
N #65136
#64532
° #64533
#65705
° #65805
| #65160
.’ #65172
N

ﬁ@ INDUSTRIAL

] |s] SHELVING SYSTEMS

@\@

Nt

22. #62003

24. #61101

34. #64630

0

N |/
L/

31. #65801
#65701

S

19. #63001

20. #62001
>
~*
<
~~
-
25. #61501 g 27.
bel 461503
26. #60501
28. #60503
u
/)
33. #66101
32, #66201

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122

(314) 965-6500
FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201

—




All locker handles come with screws.

‘O
2B #70105
1A. 470103 —

1B. #70105

2A. #70104

Il

3A. 70109 R.H.
70110 L.H.

2. #70102

3.70107 R.H.
70108 L.H.

1. 470101

@ @
U G
)

3B. #70105

-

5. #7011

6. #701
13 7.#70117

-
0]
4. #70115

(L

9A. #72001

(&

9B. #72005

{{

2N

8. #70123

9C. #72003

(e

(&)

11. #90901

13B. #70127

12. #70701 13C. #70125

REPUBLIC CONTINUED ON NEXT PAGE.

rm}@ l N D U STR I A L 455 E. ELLIOTT AVE.

ST. LOUIS, MO 63122
] |S] SHELVING SYSTEMS

10. #70703

(314) 965-6500
FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201

1A

1B.

2A.

2B.

3A.

3B.

10.

11.

12.

13.

REPUBLIC

. LOCKER HANDLE (Right Hand)

Cat. No. 70101

HANDLE LIFT ONLY
Cat. No. 70103

HANDLE HOUSING ONLY
Cat. No. 70105

. LOCKER HANDLE (Left Hand)

Cat. No. 70102

HANDLE LIFT ONLY

Cat. No. 70104

HANDLE HOUSING ONLY
Cat. No. 70105

LOCKER HANDLE (Right Hand)
Cat. No. 70107 R.H. 70108 L.H.

HANDLE LIFT ONLY (Right Hand)
Cat. No. 70109 R.H. 70110 L.H.

HANDLE HOUSING ONLY
Cat. No. 70105

. LOCKER HANDLE

Cat. No. 70115

LOCKER HANDLE
Cat. No. 70111

. LOCKER HANDLE

Cat. No. 70113

LOCKER HANDLE
Cat. No. 70117

EXPANDED METAL
LOCKER HANDLE
Cat. No. 70123

HANDLE BOLTS
A. 8-32 THREAD 5/16” Long
Cat. No. 72001

B. 8-32 THREAD 5/16” Long
Cat. No. 72005

C. 8-32 THREAD 1/2” Long
Cat. No. 72003

ESCUTCHEON PLATE
BOX LOCKER
Cat. No. 70703

DOOR KNOB
Cat. No. 90901

PADLOCK HASP
Cat. No. 70701

RECESSED HANDLE
A. Finger Lift & Pop Rivet
Cat. No. 70126

B. SLIDE — Cat. No. 70127
C. HOUSING - Cat. No. 70125

REPUBLIC CONTINUED ON
NEXT PAGE. 17



14.

15.
16.
17.
18.

19.

20.

21.

22.

23.

24.

25.
26.

27.

28.

29.

REPUBLIC

HANDLE LATCH

A. HANDLE—Cat. No. 70503
B. SPRING—Cat. No. 71505
C. WASHER—Cat. No. 71701
D. STUD—Cat. No. 72009

E. BUMPER—Cat. No. 71301
F. BRACKET—Cat. No. 70504

DOOR STOP—Cat. No. 70301

— 70303 R.H.
DOOR STOP—Cat. No. 70304 L.H.
DOOR STOP—Cat. No. 79307
BOX LOCKER FRICTION
CATCH—Cat. No. 70705

WIRE BASKET PADLOCK
ATTACHMENT
Cat. No. 70707

HINGE—Cat. No. 71101

NEW STYLE SPRING
LATCH—Cat. No. 71501

LATCH FINGER BUMPER
Cat. No. 72781

LATCH FINGER
Cat. No. 70501

LATCH FINGER SPRING
Cat. No. 71503

TUBE RIVET—Cat. No. 72007

DOUBLE PRONG HOOK
Cat. No. 72950

TWO-PERSON UPPER
DOORS

Door Can Be Used As An
Upper or Lower. Supplied
as Door Only. Door Knob,
Lock Rod and Hinges Must
Be Ordered Separately.
OLD STYLE

15” WIDE—Cat. No. 72915
18 "WIDE—Cat. No. 72918
NEW STYLE

15” WIDE—Cat. No. 72115
18” WIDE—Cat. No. 72118

DOUBLE PRONG HOOK
Cat. No. 71003

WALL HOOK—Cat. No. 71001 R.H.
Disc. 71002 L.H.

18

{5

14C.

#71701 14A. #70503

14B. #71505

[

14F. #70504

v

~
& 14E. #71301 15. #70301

)

e——

16. 70303 R.H.
70304 L.H.

@ 0O

18. #70705

20. #71101

%ﬂ\*’o
oY

g
l 25. #72007

= (USE #64630) <SS 2
17. #70307 22. #72781
% |

26. #72950

D

29. 71001 R.H.
Disc. 71002 L.H.

\/

23. #70501 24. #71503

Y

28. #71003

21. #71501

27. #72915-15” WIDE
#72918-18" WIDE
#72115-15" WIDE

s INDUSTRIAL

BRE SHELVING SYSTEMS

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122

(314) 965-6500
FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201




REPUBLIC

i 28. LOCKRODS
(Current Style Only After 1972)
28. PART DOOR ACTUAL NUMBER
#72818 NO. SIZE SIZE OF TIERS
472820 *72818 (18" H|14-7/8" |4 Tier 6’ High
#75330 Q *72820|20” H|16-11/32" |3 Tier 5’ High
:’72:;‘; * 72824 (24" H|20-11/32"|3 Tier 6’ High
#75336 Q 75330 (30" H|26-3/16" |2 Tier 5’ High
jgggg L RH 75130 (30" H{18-3/8” |2 Tier 5’ High
#75160 ] «72832(30"” H|24-1/2" |2 Tier 5’ High
:;gfg; ID LH 75336 |36" H|32-3/16"” |2 Tier 6’ High
#72873 | 75136|36"” H|24-3/8” |2 Tier 6’ High
#72640 ) «72838 (36" H|30-1/2” |2 Tier 6’ High
72006 “\/b/ 75160 |60 H|47-29/32"|1 Tier 5’ High
#72847 * 72861 (60" H|47-7/8” |1 Tier 5' High
- 75172|72" H|60” 1 Tier 6’ High
\ » | *72873|72" H|60" 1 Tier 6’ High
477130 72840| RH |28-7/8” |2 Pr. 5’ High
Q S ] 72841 LH (28-7/8” |2 Pr. 5’ High
$77172 > 72846| RH |40-7/8” |2 Pr. 6’ High
72847, LH |40-7/8" |2 Pr. 6’ High
30. #76101
b * Specify if Lock Bars are for upper
¢ d or lower doors.
31. #76201  Used with Recessed Handle
U (See page 15 Items No. 13C)
29. EXPANDED METAL LOCK
BAR ASSEMBLY
Cat. No.77130-30" DT
Cat. No0.77136-36" DT

4\?3, Cat. No.77160-60" ST

Cat. No.77172-72" ST
30. TWO-PERSON LATCH BAR
¥ = Short RH—Cat. No. 76101

31. TWO-PERSON LATCH BAR
Long LH—Cat. No. 76201

L_, \. 32. SHOULDER RIVET
3 472608 Cat. No. 72605

~~ L D 33. PLASTIC GLIDE FOR
MONDRAIN LOCK BAR
Cat. No. 79003

34. OLD STYLE LEFT HAND
| LOCKING BAR FOR UFPPER
’ DOOR—Cat. No. 75703
‘ U

N N N 35. OLD STYLE RIGHT HAND
% 475701 LOCKING BAR FOR UPPER
34. 475703 %.475803 DOOR—Cat. No. 75803

36. NEW STYLE LOCKING BAR
FOR UPPER DOORS
Cat. No. 75701

33. #79003

INDUSTRIAL &ioiio s

(314) 965-6500

1S SHELVING SYSTEMS  ,x (314) 965-4500
TO ORDER CALL 1-800-875-6201 19




. HANDLE BUMPER BOX
Cat. No. 80111

. HANDLE RUBBER BUMPER
Cat. No.81301Upper/Lower

. ROLL PIN—Cat. No.82001

. HANDLE SLIDE—Cat. No. 80105
. HANDLE CASE—Cat. No. 80107
. HANDLE—Cat. No. 80113 «

. JAMB CLIP—Cat. No. 80305

. NYLON PLUNGER
Cat. No. 80308
. METAL PLUNGER
Cat. No. 80307
. PLUNGER SPRING
Cat. No. 81501
. JAMB ONLY—Cat. No. 80303
. JAMB, COMPLETE ASSY.
Cat. No. 80301
. LOCK PLATE—Cat. No. 80707
. HANDLE BOLT
8-32 x 5/16—Cat. No. 82085
. HANDLE BOLT
10-24 x 1/2. Cat. No. 82009
. SHOULDER RIVET
Cat. No.82003

. HANDLE LATCH—Cat. No. 80501
. JAMB GRAVITY—Cat. No. 80309

. DOOR STOP GRAVITY
Cat. No. 80311

. BASKET HANDLE
Cat. No. 80703

. HINGE—Cat. No. 81101
. 3 HOLE HINGE—Cat. No. 81103"

. TINNERMAN CLIP
Cat. No. 82005

. LOCK STOP—Cat. No. 89001

. LOCK BARS
PART DOOR ACTUAL
NO. SIZE SIZE
* 85118 18” 13-39/64”
85120 20” 15-37/64”
85124 24” 19-35/64”
* 85127 27 22-1/2”
85130 30~ 25-29/64”
85136 36~ 31-23/64”
* 85142 42” 37-17/64”
* 85148 48” 43-11/64”
* 85154 54” 49-5/64”
85160 60” 54-63/64”
85172 72”7 66-51/64”

* Special order
o0 ~ No longer available

1. go11

4. 80105 O

8. 80308

9. 80307 |

~J

10. 81501

.

11. 80303
JAMB
ONLY 13. 80707

I 18. 80309

5. 80107

6. 80113

7. 80305

P

14. #82085

o=

15. 82009

12. 80301 0
COMPLETE
ASSEMBLY

@ 16. 82003

©
17. 80501 \ /

\

19. 80311

0703
23.82005

©/

24. 89001

21. 81101

' INDUSTRIAL

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122
(314 965-6500

FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201

118 SHELVING SYSTEMS

]




No. 15— #99505
g e ot MISCELLANEOUS
R.H. Slotted
No. 26— #99563
Pop Rivet
No. 16— #99512
8-32 x 3/8 Bolt
B e, FASTENER ITEMS
W No. 27— #99565 (Packaged per 100)
1/8 x 1/4 Split
% b Rivet Oval Head « 15. 6-32 x 3/8 BOLT
Truss Hd. Slotless R.H. Slotted
No. 28— 498570 16. 8-32 x 3/8 BOLT
118 x 3/4 Flat Hd. Slotted
Cotter P
No. 18— 95520 otter Fin 17. 832 x 3/8 BOLT
10-24 x 3/8 Bolt Truss Hd. Slotless
Truss Hd. Slotless 18 10-24 x 3/8 BOLT
@@) No. 20— #99575 Truss Hd. Slotless
832 Hex Nut 19. 10-24 x 1/2 BOLT
No. 19— 400525 Truss Hd. Slotless
10-24 x 1/2 Bolt 20. 10-24 x 5/8 BOLT
Truss Hd. Slotless @‘. :1;2!430; #99580 Truss Hd. Slotless
2 - Nut
0 \E. o 21. 832 x 5/8 BOLT
Truss Hd. Slotted
\‘Q)_. 50— #99530
E‘ﬂ }?uzs‘ts xH 2/83?:3838 @ No. 31— 99590 22. 10-24 x 1/2 BOLT
' 832 Kep Nut Truss Hd. Slotted
o
© 23. 1/4-20 x 1/2 BOLT
. No. 21 99533 Truss Hd. Slotted
? 8.92 x 518 Bolt @ s o « 24, 1/4-20 x 5/8 BOLT
" Truss Ha. Slotted Truss Hd. Slotted
25. 10 x 5/8 ROUND HEAD
Slotted Metal Screw
Z .22~ No. 33— #99605
S o2 260N @ 11620 Kop Nut 26. POP RIVET
—  Truss He. Slotted + 27. 1/8 x 1/4 SPLIT RIVET
Oval Head
No. 34— #99610
E * 28. 1/8 x 3/4
@ 8 Star Washer
% No. 23— #99540 External COTTER PIET
5  1420x 112 Bolt . No. 35— #99615 29. 8-32 HEX N
= Truss Hd. Slotted = 8 Lock Washer 30. 10-24 HEX NUT
31. 8-32 KEP NUT
= No. 36— #99620
o, 24 som5e5 No. 36— #99620 32. 10-24 KEP NUT
1/4-20 x 5/8 Bolt . 1/4-20 KEP NUT
Truss I):Id. Slotted 33 f
No. 37— #99625 + 34. 8 STAR WASHER
3/8 Flat Washer External
_ 35. 8 LOCK WASHER
@ No. 25— #9956
% ) (;’x o8 hoon d°H d @ EE\ [&?Jvﬁ:ﬁifs 36. 3/16 FLAT WASHER
Y Slotted Metal Screw (Storage Cab,) * 37. 3/18 FLAT WASHER
~ 38. LATCH WASHER
(Storage Cab.)

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122
(314) 965-6500

FAX (314) 965-4500

INDUSTRIAL

* No longer available

%@ SHELVING SYSTEMS
TO ORDER CALL 1-800-875-6201 21



MISCELLANEOUS

1. DOUBLE PRONG HOOK
Cat. No. 91003

2. SINGLE PRONG WALL
HOOK—Cat. No. 91001

3. LOCK HOLE COVER PLATE
Cat. No. 99001

4. ALUMINUM NUMBER
PLATE (Specify Number)
Fits All Manufacturers
Except LYON
Cat. No. 98001

5. LEXAN PAINT PROTECTOR
Cat. No. 99007

6. LOCK BAR SHIM CLIP
Cat. No. 99009

7. TORQ-TITE WRENCH
Cat. No. 99025

8. GULMITE HEAD WRENCH
Cat. No. 73001

9. WAX STICK—Cat. No. 99011

10. AEROSOL SPRAY LUBE
Cat. No. 99040

11. BRUSH TYPE TOUCH-UP
ENAMEL—Cat. No. 99050 -
Available in:

Pint, 1 Quart, 1 Gallon
Call or write for color chart.
Please state locker manufacturer.

12. SPRAYON TOUCH-UP
ENAMEL 9 OZ.

Cat. N0.99045 ~+

13. PADLOCK ATTACHMENT
Cat. No. 99065

14. PADLOCK STAPLE
Cat. No. 90705

15. TUBULAR RIVET HAND
TOOL—Cat. No. 99090

* No longer available

22

3. #99001

2. #91001
1. #91003

P

- e - s |0

o o o

5. #99007 W}/

4. 498001

|

9. #99011

11. #99050

12. #99045

C )

15. #99090

13 #99065 14. #90705

INDUSTRIAL 7 tovis vo ez

314) 965-6500
SHELVING SYSTEMS (l<‘;\X)(.¥l4)‘)65-45()()
TO ORDER CALL 1-800-875-6201



TO ORDER CALL 1-800-875-6201

Master; LLocks FOR CORRIDOR LOCKERS — SCIENCE LABS

ATHLETIC AND INDUSTRIAL ARTS DEPARTMENTS

COMBINATION PADLOCKS

High Security

No.2010 No. 2002

Key-Controlled Deadbolt
Deadbolt Combination Combination

Padlock Padlock

Heavy duty protection combined with keyless
convenience. More than doubles combination
lock strength and security. Exclusive high-tech
steel shackle. Dual ball-bearing deadbolt locks
both shackle legs. Resists abuse, prying and
impact. Stainless steel outer case surrounds
massive solid inner case. Rugged rim-
reinforced dial resists prying and knock-off.
Smooth 3-number dialing. Thousands of possi-
ble combinations. Self-locking, automatically
disarranging tumblers and dial spin-off.

With Key Control

No. 2010 has control-key mechanism — au-
thorized person has access to all lockers.
(Order Control Key separately.) Installation
record maintained at factory, permitting exten-
sion of system under same key. Can be sup-
plied key-compatible with existing No. 1525
key-controlled systems.

No. Description
2010 Key-controlled
deadbolt
combination
padlock
1525K Control key
Without Key Control
No. Description
2002 Deadbolt
combination
padlock

No. 1630
For lockers with
handles & automatic
locking rods

COMBINATION PADLOCKS

No. 1502

No.1525

Key-Controlled Combination
Combination Padlock Padlock

Keyless convenience — smooth 3-number
dialing. Self-locking, automatically disarrang-
ing tumblers, and dial spin-off. Stainless-steel
case with double-wall construction. Nickel-
plated steel shackle. Patented dialing marker.

With Key Control

No0.1525 has control-key mechanism — au-
thorized person has access to all lockers.
(Order Control Keys separately.) Installation
record maintained at factory, permitting exten-
sion of system under same key.

No. Description
1525 Key-controlled

1525LF  With 112" shackle
1525LH  With 2" shackle
1525K  Control key

Without Key Control
No. Description

1502 Combination padliock
1502LF  With 12" shackle
1502LH  With 2" shackle

BUILT-IN COMBINATION LOCKS

No. 1654
Springbolt; for
box lockers
without handles

No.1670
Extra resistance to
vandalism; for
regular, box &
open-mesh lockers

BUILT-IN KEY LOCKS

No.1710 Dead Bolt
No. 1714 Spring Bolt

5 PIN TUMBLER SECURITY

Nos.1710 and 1714. Exceptionally fine pre-
cision mechanism and. thousands of key
changes assure excellent protection. Wide
range of master-keyed systems.

No. Description
1710,1714 Keyed differently
1710MK, 1714MK  Master-keyed
Master key for 17710MK, 1714MK

Can be installed in less than a minute. Fast push-button combination changer, exclusive with
MASTER. Five pin tumbler security. Combination changes pre-recorded on master chart.
Control key is also re-set key. Stainless steel escutcheon plate. Working parts rust-resistant.
Engineered for long life and complete dependability. Can be master-keyed with No. 1525

padlocks.

No. Description No. Description B

1630  For doors hinged on right 1670  For doors hinged on right
1631  For doors hinged on left 1671  For doors hinged on left
1654  For doors hinged on right Control keys for above locks
1655 For doors hinged on left

Control keys for above locks

All MASTER built-in locks will fit standard piercings
FIVE YEAR LIMITED WARRANTY COVERS BOTH WORKMANSHIP AND MATERIALS
Free Combination Control Chart included with each MASTER combination lock installation

FREE FREIGHT POLICY DOES NOT APPLY TO ITEMS ON THIS PAGE

WC1R2 2-85

23



TO ORDER CALL 1-800-875-6201

FOLDING STEEL GATES

Stock

Width Collapsed In Use

Weight

Brackets & Instructions Included
Mounting Hardware Not Included

PAIRS

No. Ft. Height Height Pounds
PFGB65 6.8 o s 110 NO WELDING REQUIRED FOR INSTALLATION
PFG870 6-8 7 6" 115
PFG875 6-8 7Y% 7 120
PFG880 6-8 8- 72 125
PFGB8S 68 8% 8 130 . /\/\ \/\/\/\
PFG1065 810 6% 6 115 t ’ ‘
PFG1070 8-10 7 62 120 ‘
PFG1075 8-10 72 7 130
PFG1080 8-10 8 7% 135
PFG1085 8-10 82 8 140
PFG1265 10-12 6%2 6 120
PFG1270 10-12 7 6% 125 \
PFG1275 10-12 72 7 130
PFG1280 10-12 8 7%2 135
PFG1285 10-12 8% 8 140
PFG1465 12-14 62 6 140
PFG1470 12-14 7 62 130
PFG1475 12-14 72 7 135
PFG1480 12-14 8 72 140
PFG1485 12-14 8Y2 8 145
PFG1665 14-16 6% 6 130 "\ \ \/ /\/ /\
PFG1670 14-16 7 6'2 138
PFG1675 14-16 72 7 140
PFG1680 14-16 8 VAZ) 145
PFG1685 14-16 8 8 150 Center drop pin. Ball bearing wheels.
PFG1870 16-18 7 6Y2 145 Standard for Webs over 5 feet wide is a Lockable Drop Pin for
PFG1875 16-18 72 7 150 additional bottom-of-gate security
PFG1880 16-18 8 7Yz 155
PFG3070 18730 . S 765 CUSTOM SIZES AVAILABLE
PFG2080 18-20 8 72 175
Siock  Wiin Colueed InUse  Wesh SINGLES NO WELDING REQUIRED TO INSTALL
50300 4o o e CUSTOM SIZES AVAILABLE / /\ (VN \’ ‘a
$5G565 4-5% 64 6 61 ‘\ /. /\ / \
SSG570 4-5% ? 6% 63 ‘/
SSG575 4-5% T 7 65
SSGS80 4-5% 8 Th 67
$SGE55 56% 5 s 60 ./’ /
$SGEEO 56 6 5% 62 \
SSGEs 56% 6% 6 64 ~ ‘
SSG670 5-6% 7 6% 66
$SG67S 56w 7w 7 8 ’
SsGeso 56w i 4G 70 Center drop pin. Ball bearing wheels. /\/\
38G785 674 Sn S es Standard for Webs over 5 fest wide 1s a Lockable Drop Pin for ’
$8G760 6-7% ] 5% 67 e over $ feet v
$8G765 67% 6% [} ')
$8G770 6-7% 7 6% 7
88G775 67w  Tw 7 73
88G780 6-7% 8 ™ 75
Stock Height Width Weight —
No. Inches Inches Pounds /
D-81 81" e 35 DOOR GATES | ~\ X /’\/\ 1.
0-63 63" 48" 38 \ \
D-68 66" 48" 43 ’ ~ ‘
D-88 68" 48" 45
0-71 7" a8 46 /
073 73" 48" a7 ' ’ ’
o-78 76" 48" a8 / \
D-79 79" 48" 50
0-81 81" 48" 51 | ‘ ’ ’
D-83 83" 48" 52 Locking Bar Included | | .\ ’ ’
D-85 85" 48" 53 No Mounting Hardware | ’ ‘
D-88 88" 48" 54 e \/ \/ Y, \ .
In U

24

UNIVERSAL MOUNT (left or right). FACING OR CASING MOUNT

Not In Use

FREE FREIGHT POLICY DOES NOT APPLY TO ITEMS ON THIS PAGE



CHAIR GLIDES

SAMPLE KIT

¢ Avoid confusion
¢ Eliminate errors

* 18 of the most popular
glides included

ADJUSTABLE

HEIGHT LEG

Cat. No. G-KIT

KRUEGER
SWIVELGLIDE

‘10
Vv Cat. No. G-380 BASE 'D.
| ynr 7 ” .
\ Holes punched at 1” Vh he G-370
J increments Stem tilts in all
M[ Height adjustable from Use G20 or G20N | directions.
i 22" — 30"
g Includes mounting screws. KRUEGER
SWIVELGLIDE
1.D. CAT. # " BT | G360
Y " G-375 Stem tilts in all
Sold in 100’s only. directions.
455 E. ELLIOTT AVE.
INDUSTRIAL st rouss vo iz
(314) 965-6500
SHELVING SYSTEMS [\’ 313) 965.4500
25

TO ORDER CALL 1-800-875-6201




HEYWOOD WAKEFIELD
BASE o) 1.D. CAT #

VIRCO, ARTCO BELL, O0OD WA »
PEABODY, GRIGGS BASE | O.D. | ILD. | CAT#
BASE | O.D. |ouTsiDE| CAT # 1-116" | 314" 5/8" G-90
1-1/4” | 5/8” |HOLDING| G-56 1-116” | 78" 34" G-92
CLIP For straight tube.
With Nylon Base G-55N
OOD WA » COLUMBIA
A RICAN U BASE | 0O.D. 1.D. CAT #
BASE | 0.D. I.D. | CAT# 114" | 718" 34" G-50
1-1/4" | 9116” | 716" | G-37 1-1/4” 17 718" G-30
1-1/4" 5/8" 112" G-35 Add “N” for Nylon Base
Add “N” for Nylon Base
OLAR CRA AMERICAN DESK
: RICA - BASE | O.D. I.D. | CAT#
O b1~ 114" | 1116”7 | 12" | G100
BASE | O.D. I.D. | CAT# Add “N” for Nylon Base
1-1/4" | 5/8" 112" G-60
114" | 314" | 96" | G95
Add “N” for Nylon Base
00D WA » AMERICAN SEATING
BASE | O.D. I.D. | CAT# BASE | O.D. I.D. | CAT#
1-1/4" | 314" 5/8" G-40 1-3116” | 11/16” | 916" | G48
1-1/4" | 718" 3/4" G-45

1-1/4”

9/16”

716"

G-20

26

HOW TO MEASURE FOR GLIDES

i

OUTSIDE
DIAMETER
OF ROUND

LEG

— F cwan

LEG

!

!

{

OUTSIDE
INSIDE INSIDE DIAMETER
DIAMETER DIAMETER OF SQUARE
LEG

f CHAIR 3

LEG

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122

(314) 965-6500
FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201




CHAIR GLIDES

For 1/2” O.D. Tubing Aluminum Cap
Furnished to Secure Glide
Cat # G65

EUREKA, VIRCO

BASE 0.D. 1.D. CAT #
1-116” | 3/4” 5/8" G-107
1-116” | 7/8" 314" G-106
1-1/16” 1” 7/8 G-105

FOR SQUARE TUBING

BASE 0.D. 1.D. CAT #
1-116" | 7/8" 314" G-05
1-1/16" 1" 7/8" G-10
1-116” | 1-1/8” 1” G-25

VIRCO AND OTHER 7"
TUBING

NYLON GLIDE CAPS
BASE SIZE CAT #

1" G-109
1-1/16" G-110
1-3/16" G-115
1-1/4" G-120
1-3/8" G-123
1-1/2" G-125

INDUSTRIAL

S] SHELVING SYSTEMS
TO ORDER CALL 1-800-875-6201

BRUNSWICK

BLACK RUBBER FOOT
WITH METAL CAP

FRONT CAT #
CHAIR G-70
FOOT

&

BLACK RUBBER FOOT
WITH METAL CAP

REAR CAT #
CHAIR G-75
FOOT

N

E

BLACK RUBBER FOOT
WITH METAL CAP

TABLE
LEG

CAT #
G-80

©

oo

REPLACEMENT METAL CAP

CAT #G-85

HOW TO MEASURE FOR GLIDES

OUTSIDE @ l l OUTSIDE
DIAMETER INSIDE INSIDE DIAMETER
OF ROUND DIAMETER | DIAMETER OF SQUARE
LEG LEG
f CHAIR f f CHAIR f
LEG LEG
455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122
(314) 965-6500
FAX (314) 965-4500
27



CHAIR GLIDES

NON SWIVEL GLIDE

BASE | THREAD| STEM
LENGTH

1-3/4” | 1/4-20 | 1-1/8” | G-160
Base is white nylon

1-116” 8-32x1/2 G-130

o |

BASE | THREAD| STEM |CAT # BASE DIA. CAT #

LENGTH 7/8" G-165

1116" 1/4-20 17 G-135 1-1/16” G-170
5/16-18 1 G-140 For wood furniture.

Sold in 100's Only.
Add “N” for Nylon Base.

O H BA
BASE | THREAD| STEM [CAT# ! i
LENG n BASE CAT #
13167 | 1420 | 1 G-145 28" o175

ADJUSTABLE SWIVEL GLIDE RA P OR
BASE | O.D. 1.D. CAT # R OAD

11/4” | 58" | NA | G150 0.D. 1.D. CAT #
For any 518" O.D. Tubing 7/18" 3/4" G-180
1" 718" G-185

1-1/4" 17 G-190

To Be Used With
1/4-20 Thread Stem

TUBE CAP
o) L.D. CAT #

7/18" 314" G-195
1" 718" G-200
SOLD IN 100's ONLY

BASE | THREAD| STEM |CAT #
LENGTH

13/4” | 3/816 | 1-1/2” | G-155
Heavy duty — for tables, etc.

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122
(314) 965-6500

_|s
B SHELVING SYSTEMS iz 314) 965-4500
28 TO ORDER CALL 1-800-875-6201




CHAIR GLIDES

RIBBED RUBBER CRUTCH

TIP (BLACK) N
0.D. CAT # £ RUBBER FEET FOR

58" G205 FOLDING CHAIRS
S G210 — |.A_FRONT G-305

718" G-215 B. REAR G-310
17 G-220

1-1/8” G-225 H

1-1/4" G-230 B.
00 RUBBER CR ATTACHMENT HARDWARE
P (BLA FOR LYON FOLDING CHAIRS
0.D. CAT # HARDWARE SET FOR
5/8" G-235 ALL 4 LEGS.
3/4” G-240 G-315
718" G-245 ‘
17 G-250 White
17 G-250 Black

PLASTIC CHAIR TIP CLARIN

— 0.D. CAT # RUBBER FEET FOR
5/8 G-265 FOLDING CHAIRS
374" G-270
7/8" G-275
-320
L i CAT #G-3
N/ 1-1/8" G-282

SICO TABLE GLIDES

1" O.D. For Center Frame Black

Cat # G-285

1” O.D. For Top Of Leg Black Plastic
Cat # G-290

3/8” O.D. For Locking Leg G-295

>

A AMERICAN SEATING
FOLDING CHAIRS-TAN
CAT. # G-326

B. HOSTESS CHAIRS-BLACK
CAT # G-330

|

A. SQUARE INSERT e GLIDE SIZES

BLACK RUBBER STOOL FOOT

0.D. CAT #
BASE 1-13/16” CAT # 314" G-335
HEIGHT 1-1/8” G-300 13/16” G-336
7/8" G-337

B. STACKING CHAIR

BUMPER-GRAY CAT # G-350

‘s INDUSTRIAL &I0ih0as
- (314) 965-6500

DD SHELVING SYSTEMS FAX (314) 965-4500
TO ORDER CALL 1-800-875-6201 29




SECURITY LATCH

30

e SECURITY LATCH is an investment in protection and
safety. It has many benefits over standard methods of
panic door retaining devices. Here’s why . ..

¢ FIRE SAFETY — Secures Panic Doors without chains
or padlocks ... allows fire fighters immediate exit
from a building . . . eliminates the possibility of being
trapped in a burning building.

e TIME SAVER — Saves employee time securing a
building because of the simplicity of application,

removal and storage.

e LOW COST — The average school can be equipped
with Security Latch for less than the insurance deduc-
tible incurred as the result of one break-in.

SAFE, MAR-PROOF SURFACE

MODEL
SL-200 OR
SL-205*
DOUBLE
DOOR LATCH
Wedges
firmly against
the center
post

MODEL
SL-120 OR
SL125*
SINGLE
DOOR LATCH
Wedges
firmly against
the door
jamb.
(Specify right
or left hand
door)

(Right hand shown)

MODEL
SL-210 OR
SL-215*
DOUBLE
DOOR LATCH
For doors
without a
center post.

INDUSTRIAL

SHELVING SYSTEMS

MODEL
SL-400 OR
SL-405*
DOUBLE
DOOR LATCH
Wedges
firmly against
the center
post.

MODEL
SL-410 OR
SL-415*
DOUBLE
DOOR LATCH
For doors
without a
center post.

MODEL
SL-420 OR
SL-425*
SINGLE
DOOR LATCH
Wedges
firmly against
door jamb.
(Specify right
or left hand
door.)

(Right hand shown)

455 E. ELLIOTT AVE.

ST. LOUIS, MO 63122
(314) 965-6500
FAX (314) 965-4500

TO ORDER CALL 1-800-875-6201



. #DR20
#DR25

6. #DR50-5/8"'D
#DR52-1/2'D

11. #DR160 &
#DR162 =
12. #DR100
\'In"
9. #DR170 T l\
-

A 10. #DR180 ~ e
S 15. #DR130

17. #DR150

13. #DR110 -

-

-

Lo
.
14. #DR120

~2h

16. #DR140

A

455 E. ELLIOTT AVE.
ST. LOUIS, MO 63122
(314) 965-6500

FAX (314) 965-4500

's INDUSTRIAL

D‘D SHELVING SYSTEMS
TO ORDER CALL 1-800-875-6201

DOOR HOLDERS

& STOPS

KICK DOWN HOLDERS
Brass with Dull Chrome Finish

1. Cat. No. DR10 (4"L)

Cat. No. DR15 (5"L)

Cast Iron Painted Aluminum
2. Cat. No. DR20 (4"L)
Cat. No. DR25 (5"L)

PLUNGER TYPE HOLDERS

3. Cat. No. DR30 (US26D Finish)

4. Cat. No. DR40 (Aluminum Finish)
DOOR SILENCER FOR

METAL DOORS
5. Cat. No. DR45
REPLACEMENT SHOES
6. FOR DR10-DR25 — Cat. No. DR50
or DR52

7. FOR DR30 — Cat. No. DR60
8. FOR DR40 — Cat. No. DR70

FLOOR MOUNTED

9. Cat. No. DR170

10. Cat. No. DR180

11. Cat. No. DR160 without threshold
Cat. No. DR162 with threshold
Replacement Bumper

Cat. No. DR161

12. Cat. No. DR100

WALL BUMPERS

13. Cat. No. DR110 (Cast)

14. Cat. No. DR120 (Wrought)

15. Cat. No. DR130 (Cast)

16. Cat. No. DR140 (Wrought)

17. Cat. No. DR150 (Adhesive mt)

WALL MOUNTED
18. Cat. No. DR80
19. Cat. No. DR90
20. Cat. No. DR190
21. Cat. No. DR200

22. FULL MORTISE HINGES
3%2"x3%2 " — Cat. No. DR300
4"x4" — Cat. No. DR310
42 "x4Y>, " — Cat. No. DR320
5”x5" Cat. No. DR330

11A.

SPECIFY: Regular Weight, 2 Ball
Bearing, or 4 Ball Bearing.

US26D Dull Chrome Finish

31



ORDER FORM

LOCKER REPAIR PARTS

Bill to: Ship to:
Attention Attention
Address Address
City and State City and State
Phone Fax
Purchase Order No. Date

Quan. Part Number Description Unit Price Total
[ Tax
(sl INDUSTRIAL SHELVING SYSTEMS Exempt
LI ls] Total

455 E. ELLIOTT AVE.
LOCKER AND CHAIR ST. LOUIS, MO 63122

PARTS 314-965-6500

1-800-875-6201
FAX (314) 965-4500

STEEL SHELVING MEZZANINES
SHOP EQUIPMENT  PALLET RACK
COMPLETE DESIGN & INSTALLATION




